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And if you will say, it is only less, etc., but he said ‘only’

Overview

The X7 states that it is not possible that she conceived when she was a 77v1 and
gave birth when she is a 7733, for PRWw taught 2°w7n MWW XX N1732%2 M1 P2 pPR.2 In
our M 13 the text continues and asks X2°97 X177 7°%2 RN 1 (perhaps XY meant
that the period of M ¥1 cannot be less than six months) X3°X *5v &7 (but it can be
more than six months;®> the X3 responds, XpP XoX X7 (but XMW said ‘only”’ six
months), no more and no less.
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“""w1 elsewhere is not 713 this question and answer, for without the word '72%2',
the statement of ?X 11w indicates that the period of N1y is not more than six months.

Summary
"1 is not 07 the question and answer of "MRP 7272 XM ,"191 %2 n"'5Y, since even

without this inference, it is obvious that X1 meant six months exactly.

Thinking it over
It seems that D7 MO in PRIV was 7292 D°WTH AW KR MIXA2 Ml P2 . It is

therefore understood that even without 7272, it means exactly (as m»oIn writes),
since it still would say 'R?X'. However, according to our X07°) (where there is no 7273,
only X7X) perhaps if there was no X7% we would not assume that it is exact.” Then
the answer is valid; we need the XX to teach us that it is exactly six months?!

!'In our texts it reads X2X instead of 7292, but they both mean ‘only’. The word 7272’ is not in our texts at all.

2 A child cannot be viable if the pregnancy was only six months.

3 Perhaps the conception and the live birth was during this longer n17w1 period.

4591 71"72. We cite the *"wno there; PNYTX PO°N RMNT 073 K7 TAKP 7393 KOX K7 RDOK 951 K7 KDOHT K7 982 KMo 99
DOWIN AWWR NI NNA27 M1 12 PR KRR o1 01 2. There is no reason for doubt, since 2Xmw did not say, ‘the time
of MAv1 is not less than six months’, rather he said the time is six months; this means no more and no less.

5 See (however) n"3173"7 X,70 7771 "o,

¢ See ‘Thinking it over’.

7 It would perhaps read m733% Mw1 172 oW AWW.
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